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Chapter 6 Rational Expressions and Equations

6.2 Multiplying and Dividing Rational Expressions
Warm Up

1. What is the reciprocal of each expression?
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2. What are the non-permissible values, if any, for each rational expression?
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3. Write an expression that satisfies the given conditions in each case.
a) equivalent to % with a denominator of 4x b) equivalent to a:_ 39 with a numerator of 1 v
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d) equivalent to % with a numerator of 3¢ - 9f
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4. Multiply the following:
a) ;% b)%xg‘_ OERE: d)"gx} )gx!f'
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5. Divide the following:
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Chapter 6 Rational Expressions and Equations

To simplify a product or quotient of rational expressions, treat them as you would fractions.

'94' Remember: always factor fﬂ)

All non-permissible values of each expression being multiplied or divided must be stated.

Example 1:
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(befpce Simplficatnd

Simplify each expression. State the non-permissible values
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Chapter 6 Rational Expressions and Equations

Example 2: Simplify each expression. State the non-permissible values.
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